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Notes on how to derive a demand curve
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Budget Constraint

          




Coke intercept = I/Pc = 300/ .50 = 6

coke




Burger intercept = I/Pb = 300/ .75 = 4
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Finding the Optimal Bundle

Muc = Muc$ 

Mub = Mub$



               
Pc


Pb

	Coke
	Burgers

	111
	11


8/.50 = 16 1st

11/.75 = 14.66 2nd
7/.50 = 14 3rd

9/.75 = 12 4th

5/.50 = 10 5th

7/.75 = 933 6th

Total Utility = 3 cokes + 2 burgers


TU    =     20     +    20


TU    =       40

Graph of Solution
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Price of burgers changes to $.50

Now find budget constraint and optimal bundle
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Optimal bundle

Mucoke =
Mu burger =



Pcoke

 Pburgers

	Coke
	Burgers

	111
	111


8/.50 = 16 3rd       

11/.50 = 22 1st

7/.50 = 14 4th


  9/.50 = 18 2nd

5/.50 = 10 6th


  7/.50 =  14 5th

TU = from 3 cokes is 20 utils and 3 burgers is 27. = 20 + 27 = 47
When 

Pb= .75

Qb= 2

When

 Pb= .50
Qb= 3

You now have two points, which is all that is necessary for a demand curve.
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